
ECON 110, Prof. Hogendorn

Problem Set 9

1. OldGermansMoney. Suppose that Germany output is Y = 4374 beers
now, and will fall to Y = 3713 beers in the future due to population
decline. If the European Central Bank (which acts as Germany's cen-
tral bank plus the other countries that use the Euro) does not change
the money supply over the years and velocity does not change, will
there be deflation or inflation in Germany? Show what happens on
a graph of P as a function ofM and also mathematically.

2. UchitelleMoney.Consider the change frompart (a) to (c) of theUchitelle
problem, but now suppose there ismoney in the economy. Specifically,
the money supply is 10 dollars and velocity is 10. Price is initially 1.

(a) If themoney supply andvelocity donot change,what is the change
in the nominal price of hamburgers and the nominal wage?

(b) If the central bankwanted tomaintain the price of 1, howwould
it have to change the money supply? Illustrate your answer with
a graph of money supply and money demand.

1



3. Sticky.Let the economy-wide labordemandcurvebeL(w) = 1000− 20w.
Let economy-wide labor supply beL = 800.

(a) Draw the labor market and show the equilibrium wage.

(b) Letfirms reducehiring, shiing labordemand toLr(w) = 800− 20w.

If the labor market clears, show what happens to wages and em-
ployment.

(c) Now suppose thatwages are completely sticky and do not adjust.
Show what happens to wages and employment.

(d) If the Ministry of Labor of this economy did a telephone survey
to find the unemployment rate, which would be the most real-
istic unemployment rate under the conditions of part (c): 30%,
25%, or 20%? Explain.

4. OkunsLaw. Suppose the natural rate of unemployment is 4%. Let cur-
rent unempoyment be 6% due to a Keynesian recession.

(a) Is the difference between U and U∗ attributable to frictional or
cyclical unemployment? Explain.

(b) How large is the GDP gap?
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